HOW TO USE

1. Insert the electrical wire plug into single-phase three-line sockets of power supply cord.

2. Before start, please turn the knob anticlockwise to the minimum location. Turn on the switch, the power light will be on. It
is ready for cutting after adjusting the knob slowly to needed working temperature. Please pay attention to separate
materials at once while cutting.

3. Current adjustment depends on target materials. Different materials apply different power, Bigger power, quicker speed,
shorter life. Please apply the suitable temperature,

VY. B
1o BOTHRLM R ARRERI I, KBRS FAL B Sy EE T AT B, % ] SERE T
2 HLARASHIN 8 20 ARG R SE b, LA L P B 400 55 ARG
3+ AR AN = St sk, IR R M U B, DL 24

NOTIFICATION

1. The advance speed ought to be moderate. Rapid speed will cause heating wire touch post. It casues short circuit. The
machine will be damaged.

2. Please keep the machine in dry circumstances to protect the machine from insulativity receding.

3. The machine is with single-phase three-line plug.. Please make sure the ground of socket earthed well for safety,

— ML E 4 HEAD

i K= 2R DESCRIPTION BE it
NO CODENAME PC(8) REMARK
—1 R-1 RFigs SCREW 4 M4z |
2 . R-2 R’RF HANDLE 1
3 R-3 hE MIDDLE COVER 1
i 4 R-4 ik FORMER COVER 1 ]
5 R-5 R S Lk 5] BOLT 1
6 R-6 RFS®RER GASKET 1 4‘
7 R-7 =LA NUT 4
8 ~ R-8 R A E AR T BOLT 4 M5°22
8 R-9 34T [E] FEHT LEDGER PLATE 1
10 R-10 ¥ HANDLE 1
IRE R-11 AL g BOLT , | M&s |




. JENGH > SOLEPLATE

Y

1]

R-47

R=-49

Es >

_..ﬂ-*""fil

WA\

::l\a-sa
¢ i/_ R=54

e s R DESCRIPTION ue 'iE
NO CODENAME PC(S) REMARK
| 47 R-47 Tkt POST 1 16 22 28
| 48 © R-48 M7 AiRET SOCKET HEAD SCREW 4 M6*20 |
| 49 R-49 AR TEMPLET 1
50 R-50 WLSRIRET SUNK SCREW 1 M3*6
' 51 R-51 i35S MAGNETIC BEAD 1
52 R-52 TTREE SkRET ROUND HEAD SCREW 4 M5*10
53 R-53 1B BELR 1 RUBBER BASE ASSEMBLY 4
54 R-54 Rt &4 BOLT 8 9/64+32
55 R-55 B FUSE 1
5% ATTACHMENT
Fs s B DESCRIPTION i e
NO CODENAME PC(S) REMARK
1 ™ i FUSE 1
2 2 R CARTRIDGE FUSE 2.
3 3 g T] SCREWDRIVER 1




FUSEBOX COVER

Fs e £ DESGRIPTION = wiE
NO CODENAME PC(8) REMARK
12 R-12 HAF TENSION ROD
3 R-13 A TEMPLET
14 R-14 HATRE 'SPRING
15 R-15 Fx= SWITCH BOX
18 R-16 E SWITCH
17 R-17 FF k24947 BOLT M3*5
18 R-18 B R HE AT POWER LIGHT
19 R-19 F R IR NUT I
20 R-20 BAFH HANDLE '
21 R-21 BFL (RZR) WIRE
22 R-22 EF STATOR
23 R-23 == KNEE PLATE
24 R-24 L E ST BLOT M8*100
25 R-25 =1 E BACKWARD COVER
26 R-26 ST SkHEET SUNK SCREW M3*10
27 R-27 o ARET BOLT M4*85
28 R-28 Al BLOWER
29 R-29 Rl BLOWER COVER
30 R-30 Rip g BOLT M3*15
31 R-31 BAER BOWL PRESSURE PAD
32 R-32 [ 251 NUT M8
33 R-33 BER YOLTMETER
34 R-34 B {3 25 REGULATION RESISTANCE 470K
35 R-35 EmEE DIAL GAUGE
36 R-36 [E] 72 24k P 2% SOLID RELAY
37 R-37 i E COVER
38 R-38 FER R BT BOLT M3*5
39 R-39 e ARy LOCK REGULATION RESISTANCE 100K
42 R-42 1RE 24 [T FUSE BOX
43 R-43 1EET ROLT M3*5
44 R-44 A AR B FE 45T BOLT M5*8
- s SR REGULATION RESISTANGCE

LEDGER PLATE
46 R-46 iR




DRJ-A200 R ##HH{EAHEBAE

ELECTRIC HEATED SCISSORS
INSTRUCTION

HiARIEHR TECHNICAL DATA

IR S LA 41 wAE %

PRIMARY VOLTAGE SECONDARY VOLTAGE FREQUENCY ELECTRIC RANGE CUTTING HI_E_IGHT POWER

| 220V | 0-30V 50-60HZ 0-20A 18"24"30" 550W
S

1. BHURROICET MR BAS TR, HATEAEIR, IR LM TR TR e F 4 ety (0
2. MAFEETYR, HARERBR KSR E B A, DRy, AR RN R.

APPLICATION AND FEATURE

1. Itis an indispensable cutting tool for fiber cotton and sponge production words. It is with high speed, evenly trim, saving
electricity and easy operation.

2. Itcan work out th ebest result of cutting different materials through controlling the temperature of heating wire by
adjusting secondary voltage with voltage meter.

R

T KM ok, SR FRER B = Ak By

2 JEHLAU, A A7 R | B MO, FUTFRIRT O, AT A, Db S S R R R o
WL TAHRRE, BIVEAT 8y, Boyml. SR 2T, LUEFRT.

3 LIRS LMEAORE, WK ARBTE SR, AR B h K, A 0, R R BE



	DRJ-A200 001
	DRJ-A200 002
	DRJ-A200 003
	DRJ-A200

